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1. Ildentify the class interval table for the given histogram.

Freguency e—>
o

A S AR WWIEEH
Ln [=]

125 | 127 [ 129 [ 131 | 133 [ 135 [ 137 | 139 [ 141

Class-Interval  s———

Class-Interval | 125 - 127|127 -129|129-131|131-133|133-135|135-137|137-139|139- 141
Frequency 54 134 23 28 15 141 15 130

Class-Interval 125 - 127|127 -129|129-131|131-133|133-135|135-137|137-139|139-141

i
(i Frequency 54 134 23 28 19 141 15 130

Class-Interval | 125 - 127|127 -129|129-131|131-133|133-135|135-137(137-139|139- 141
Frequency 54 130 23 28 19 141 15 134

(iii)

Class-Interval 125 - 127|127 -129|129-131|131-133|133-135|135-137|137-139|139 - 141

iv
(v) Frequency 54 134 25 28 19 141 15 130

Class-Interval | 125 - 127|127 - 129|129-131|131-133|133-135|135-137|137-139|139 - 141
Frequency 54 134 28 23 19 141 15 130

(v)




In a study of heart patients, the following observations are obtained. Identify the class interval table for the given
" histogram.
Y

No. of Patients
¥
L]

“72- 75 78 {781 |84 ] 87 |90 |93 967

Age (in years) s—e

Age (in years) |72-75|75-78|78-81|81-84|84-87(87-90/90-93|93-96

W No. of Patients| 49 30 13 34 42 44 23 40

Age (in years) |72-75|75-78|78-81|81-84|84-87|87-90(90-93|93-96

i
(i) No. of Patients| 49 40 34 13 42 44 23 30

Age (in years) |72-75|75-78|78-81/81-84(84-87(87-90/90-93|/93-96

() No. of Patients| 49 30 29 13 42 44 23 40

Age (in years) (72-75|75-78|78-81|81-84|84-87|87-90(90-93|93-96
No. of Patients| 49 30 34 13 44 44 23 40

(iv)

Age (in years) |72-75|75-78|78-81|81-84|84-87|87-90/90-93|93-96

\
W) No. of Patients| 49 30 34 13 42 44 23 40




3. ldentify the class interval table for the given histogram.

No, of students

G125 P8 0311 34 1 37 1 40 | 43 | 46| 49
-.-|::. -.-|::. -.-|:: . | j -.-|::. | | | |

Weight (in kg) s———a—n

Weight (in kg) [25-28(28-31|31-34(34-37(37-40|40-43|43-46|46-49
No. of students 27 20 18 15 20 30 14 21

(i)

Weight (in kg) (25-28|28-31|31-34|34-37|37-40|40-43(43-46|46-49
No. of students 27 21 15 18 20 30 14 20

(if)

Weight (in kg) [25-28(28-31|31-34(34-37|37-40/40-43|43-46|46-49

(i) No. of students| 27 20 15 18 25 30 14 21

Weight (in kg) |25-28(28-31|31-34|34-37|37-40|40-43|43-46|46-49

(iv)

No. of students 27 20 17 18 20 30 14 21

Weight (in kg) (25-28(28-31|31-34|34-37|37-40|40-43|43-46|46-49

\
W) No. of students| 27 20 15 18 20 30 14 21




4. Heights of 239 students (in cm) are given below. Identify the class interval table for the given histogram.

Y

No, of students

125 1134 1 143 |1 152 | 161 1170 1179 _:1'88_'_

(i)

(if)

(iii)

(iv)

(v)

Height {in cm}

l—%

Height (in cm)

125-134

134 - 143

143 - 152

152 - 161

161 -170

170 -179

179 - 188

No. of students

42

38

40

30

15

42

32

Height (in cm)

125-134

134 - 143

143 - 152

152 - 161

161-170

170-179

179 - 188

No. of students

42

38

40

28

15

42

32

Height (in cm)

125-134

134 -143

143 - 152

152 - 161

161-170

170 -179

179 - 188

No. of students

42

38

43

30

15

42

32

Height (in cm)

125-134

134 - 143

143 - 152

152 - 161

161 -170

170-179

179 - 188

No. of students

42

40

38

30

15

42

32

Height (in cm)

125-134

134 - 143

143 - 152

152 - 161

161-170

170-179

179 - 188

No. of students

42

32

40

30

15

42

38




5. Heights of 128 students (in cm) are given below. Identify the class interval table for the given histogram.

Y

No, of students

12251128.51134.5140.5|146.5 152.5_

1585

(i)

(if)

(iii)

(iv)

(v)

Height {in cm)

0—0%

Height (in cm)

123 -128

129-134

135 - 140

141 - 146

147 - 152

153 -158

No. of students

17

22

14

38

32

5

Height (in cm)

123 -128

129-134

135-140

141 - 146

147 - 152

153 -158

No. of students

17

22

14

34

32

5

Height (in cm)

123-128

129-134

135-140

141 - 146

147 - 152

153 -158

No. of students

17

14

22

38

32

5

Height (in cm)

123-128

129-134

135 -140

141 - 146

147 - 152

153 -158

No. of students

17

5

14

38

32

22

Height (in cm)

123 -128

129-134

135 -140

141 - 146

147 - 152

153 -158

No. of students

17

22

12

38

32

5




6. Heights of 208 plants (in cm) are given below. Identify the class interval table for the given histogram.

No. of plants

(i)

(ii)

(iii)

(iv)

(v)

¥
-100
|
|
----- 90
|
|
----- 80
|
i
----- 70
|
|
----- 60
|
_____ ;j 0
o
..... 5
|
|
----- 20
|
|
----- 10
"70./] 80 | 90 100|110 120 | 130 | 140 | 150 ]
e
Height (in cm) s——ap
Height (incm) |70-80|{80-90(90-100(100-110|110-120/120-130(130-140|140- 150
No. of plants 13 32 37 19 20 35 13 39
Height (incm) |70-80|80-90|90-100|100-110|110-120|120-130|130- 140|140 - 150
No. of plants 13 39 37 19 20 35 13 32
Height (in cm)|70-80|80-90|90-100(100-110{110-120|120-130|130-140/140-150
No. of plants 13 39 42 19 20 35 13 32
Height (incm) |70-80|80-90(90-100|100-110{110-120|120-130|130-140|140-150
No. of plants 13 39 37 19 22 35 13 32
Height (incm) |70-80|{80-90(90-100(100-110|110-120|120-130(130-140|140- 150
No. of plants 13 39 19 37 20 35 13 32




7. Heights of 210 plants (in cm) are given below. Identify the class interval table for the given histogram.

b

No. of plants

625|725

82.5

925 [1025/112.5[122513251425] |

Height {in cm)

—

Height (in cm)

63-72

73 -82

83-92

93 -102

103 - 112

113-122

123 -132

133 - 142

(i)

No. of plants

27

32

11

34

21

24

47

14

Height (in cm)

63-72

73 -82

83-92

93 -102

103 -112

113-122

123-132

133 -142

(ii)

No. of plants

27

14

11

34

26

24

47

32

Height (in cm)

63-72

73 -82

83-92

93 -102

103 -112

113-122

123 -132

133-142

(iii)

No. of plants

27

14

11

34

21

24

47

32

Height (in cm)

63-72

73 -82

83-92

93-102

103 -112

113-122

123 -132

133-142

(iv)

No. of plants

27

14

15

34

21

24

47

32

Height (in cm)

63-72

73 -82

83-92

93 -102

103 - 112

113-122

123 -132

133 -142

(v)

No. of plants

27

14

34

11

21

24

47

32




8. Ages of 104 students (in years) are given below.ldentify the class interval table for the given histogram.
Y

No, of studenis
o
(=]

18 | 24/ 1 30 /1 36 {42 | 48

Age (in years) s——s»

Age (in years) [18-24(24-30|30-36|36-42|42-48
No. of students 42 15 4 15 23

(i)

Age (in years) |18-24|24-30(30-36|36-42|42-48
No. of students| 42 15 9 15 23

(if)

Age (in years) |18-24|24-30(30-36(36-42|42-48
No. of students| 42 23 9 15 15

(iii)

Age (in years) |18-24|24-30(30-36|36-42|42-48
No. of students 42 13 9 15 23

(iv)

Age (in years) [18-24(24-30|30-36|36-42|42-48
No. of students 42 9 15 15 23

(v)




9. Ages of 264 students (in years) are given below. Identify the class interval table for the given histogram.
Y

No, of students
v
L]

135205 (275345415 14855551625 |

Age (in years) s——s»

Age (in years) |14 -20|21-27(28-34|35-41|42-48|49-55|56-62
No. of students| 39 34 40 34 45 37 33

(i)

Age (in years) |14 -20|21-27|28-34|35-41|42-48|49-55|56-62
No. of students| 39 34 42 34 45 37 33

(if)

Age (in years) |14 -20|21-27(28-34|35-41|42-48|49-55|56-62
No. of students 39 42 34 34 45 37 33

(iii)

Age (in years) |14-20|21-27|28-34|35-41|42-48|49-55|56-62
No. of students| 39 33 42 34 45 37 34

(iv)

Age (in years) |14-20|21-27|28-34|35-41|42-48|49-55|56-62
No. of students 39 34 4?2 30 45 37 33

(v)




10. Scores of 251 students are given below. Identify the class interval table for the given histogram.

No, of students

(i)

(ii)

(iii)

(iv)

(v)

Y
100
|
|
----- 90
|
|
----- 80
|
i
----- 70
|
|
----- B0
|
_____ ;5 0
o
[
----- 30
|
|
----- 20
|
|
----- 10 _
9095 100410511101 115 {120 1 125- 130ﬁ
38 e e e e st e e
SCore s——
Score 90-95/95-100(100-105(105-110(110-115|115-120|120-125|125-130
No. of students 6 27 31 34 50 50 36 21
Score 90-95(95-100/100-105/105-110|110-115|115-120|120-125|125-130
No. of students 6 27 27 34 46 50 36 21
Score 90-95|95-100/100-105/105-110/110-115|115-120(120-125|125-130
No. of students 6 27 34 27 50 50 36 21
Score 90-95|/95-100|100-105|105-110|110-115|115-120|120-125|125-130
No. of students 6 27 27 34 50 50 36 21
Score 90-95/95-100(100-105(105-110(110-115(115-120(120-125(125-130
No. of students 6 21 27 34 50 50 36 27




11. Scores of 192 students are given below. Identify the class interval table for the given histogram.

Y

No, of students

7051765 ] 82.5 | 88.594.5]1005)

X
1065]112.5 1185

(i)

(ii)

(iii)

(iv)

(v)

SCore s——
Score 71-76|77-82|83-88|89-94|95-100|101-106|107-112|113-118
No. of students 29 22 28 31 37 12 9 28
Score 71-76|77-82|83-88(89-94(95-100/101-106|107-112|113-118
No. of students 29 22 24 31 40 12 9 28
Score 71-76|77-82|83-88|89-94|95-100|101-106|107-112|113-118
No. of students 29 22 24 31 37 12 9 28
Score 71-76|77-82|83-88/89-94|95-100/101-106|107-112|113-118
No. of students 29 22 31 24 37 12 9 28
Score 71-76|77-82|83-88|89-94|95-100|101-106|107-112|113-118
No. of students 29 28 24 31 37 12 9 22




12. Rainfall of 201 days (in mm) are given below.ldentify the class interval table for the given histogram.
b

No. of days

"9 119 | 29 | 39 | 49 | 59 | 69
R N R e e

Rainfall {in mm)} s————a—

Rainfall (in mm) |9-19/19-29(29-39|39-49(49-59|59-69

i
0 No. of days 5 50 50 31 45 20

Rainfall (in mm)|9-19|19-29(/29-39|39-49|49-59|59-69

ii
o No. of days 5 20 50 31 45 50

Rainfall (in mm) |9-19|19-29|29-39|39-49/49-59|59-69

iii
(i) No. of days 5 50 53 31 45 20

Rainfall (in mm) | 9-19(19-29|29-39|39-49|49-59|59-69

() No. of days 5 50 50 27 45 20




13. Rainfall of 160 days (in mm) are given below.ldentify the class interval table for the given histogram.
Y

No. of days

1451215285 | 355425495

Rainfall {in mm) e———a—p

Rainfall (in mm) |15-21(22-28|29-35|36-42|43-49
No. of days 29 31 18 49 33

(i)

Rainfall (in mm)|15-21|22-28(29-35|36-42|43-49
No. of days 29 33 18 49 31

(i)

Rainfall (in mm) [15-21(22-28|29-35|36-42|43-49
No. of days 29 29 18 49 31

(iii)

Rainfall (in mm) | 15-21|22-28|29-35(36-42(43-49
No. of days 29 33 22 49 31

(iv)

Rainfall (in mm) |15-21|22-28|29-35|36-42|43-49
No. of days 29 18 33 49 31

(v)




14. Temperatures of 120 days (in °C) are given below. Identify the class interval table for the given histogram.

No. of days

2|8__ __3|?__ 4|65|5 6|4 _'_Ir'|3

Temperature (in degreg) s——s2

Temperature (in degree) |28 -37|37-46(46-55|55-64|64-73
No. of days 16 31 9 41 26

(i)

Temperature (in degree) |28 - 37|37 -46 |46 -55|55-64 |64 -73
No. of days 16 28 9 41 26

(if)

Temperature (in degree) |28 -37(37-46|46-55|55-64|64-73
No. of days 16 26 9 41 28

(iii)

Temperature (in degree) |28-37|37-46|46-55|55-64|64-73
No. of days 16 28 4 41 26

(iv)

Temperature (in degree) |28 -37 (37 -46 (46 -55|55-64 |64 -73
No. of days 16 9 28 41 26

(v)




15. Temperatures of 189 days (in °C) are given below. Identify the class interval table for the given histogram.

No. of days

_ il
265325 | 385]44.5]505]565 | 625

Temperature (in degree] s———

Temperature (in degree) |27 -32(33-38(39-44|45-50|51-56|57-62
No. of days 32 18 36 28 48 27

(i)

Temperature (in degree) |27 -32|33-38|39-44|45-50|51-56|57-62

ii
(h No. of days 32 36 18 28 48 27

Temperature (in degree) |27 -32(33-38(39-44|45-50|51-56|57-62
No. of days 32 27 18 28 48 36

(iii)

Temperature (in degree) |27 -32|33-38|39-44(45-50|51-56|57 - 62
No. of days 32 36 18 30 48 27

(iv)

Temperature (in degree) |27 -32(33-38(39-44|45-50|51-56|57-62
No. of days 32 36 21 28 48 27

(v)




16. Weights of 183 students (in kg) are given below. Identify the class interval table for the given histogram.
b

No, of students
U
[==]

48 1 5460 {reeH T2 T8 84

Weight (in kg) s——a—n

Weight (in kg) (48-54|54-60|60-66|66-72|72-78|78-84
No. of students 20 41 29 19 41 33

(i)

Weight (in kg) |48 -54|54-60|60-66|66-72|72-78|78-84

ii
(i) No. of students 20 41 29 24 41 33

Weight (in kg) (48-54|54-60|60-66|66-72|72-78|78-84
No. of students 20 41 24 19 41 33

(iii)

Weight (in kg) |48 -54 |54 -60|60-6666-72|72-78|78-84

(V) No. of students 20 29 41 19 41 33

Weight (in kg) |48-54|54-60|(60-66|66-72|72-78|78-84
No. of students 20 33 29 19 41 41

(v)




17. Weights of 198 students (in kg) are given below. Identify the class interval table for the given histogram.
Y

Ne, of students
¥
L)

4051465525 585645705 765|825

Weight (in kg) s—e—»

Weight (in kg) (41-46(47-52|53-58|59-64(65-70|71-76|77 -82
No. of students 30 27 21 41 28 12 39

(i)

Weight (in kg) (41 -46|47-52|53-58|59-64|65-70(71-76|77-82

ii
(i) No. of students 30 27 21 36 28 12 39

Weight (in kg) (41-46|47-52|53-58|59-64|65-70(71-76|77 -82
No. of students 30 39 21 41 28 12 27

(iii)

Weight (in kg) (41 -46|47-52|53-58|59-64|65-70|71-76|77-82

(V) "No. of students| 30 27 23 41 28 12 39

Weight (in kg) (41 -46|47-52|53-58/59-64(65-70|71-76|77 -82
No. of students 30 21 27 41 28 12 39

(v)




18. Daily wages of 194 labourers (in X) are given below. Identify the class interval table for the given histogram.

No. of labourers

(i)

(if)

(iii)

(iv)

(v)

Y
—100
|
|
----- 90
|
|
_____ lgg
..... 7
|
|
----- 60
|
----- 50
|
|
|
----- 30
|
|
----- 20
|
|
----- 10
- . . GREE
2741284 1294 1 304 1314 | 3241 334 | 344 | |
i3 1 44 3 A A0 A 3 A
Daily wage (in R5) s——a3p
Daily wage (in Rs) | 274 - 284|284 - 294|294 - 304 |304 - 314|314 - 324|324 - 334|334 - 344
No. of labourers 23 34 30 11 24 30 44
Daily wage (in Rs) (274 - 284|284 - 294|294 - 304|304 - 314|314 - 324|324 - 334|334 - 344
No. of labourers 23 34 28 15 24 30 44
Daily wage (in Rs) | 274 - 284|284 - 294 (294 - 304|304 - 314|314 - 324|324 - 334|334 - 344
No. of labourers 23 44 28 11 24 30 34
Daily wage (in Rs) | 274 - 284|284 - 294|294 - 304|304 - 314|314 - 324|324 - 334|334 - 344
No. of labourers 23 34 28 11 24 30 44
Daily wage (in Rs) | 274 - 284 ({284 - 294|294 - 304 |304 - 314|314 - 324|324 - 334|334 - 344
No. of labourers 23 28 34 11 24 30 44




19. Daily wages of 219 labourers (in X) are given below. Identify the class interval table for the given histogram.

Y
--100
|
i
----- 90
|
|
----- 80
|
i
----- 70
|
£ 60
5
s |
2 fiisg
.
g |40
..... 5
|
|
----- 20
|
|
----- 10 :
99.5/308.5/317.5|326.5|335.5|344.5|353.5|3625| 3715 |
S Eial s a1 i a1 O 1 Bt i v [ E B A
Daily wage (in Rs)  s——a—p
" Daily Rage (i 1300-308/309-317 /318 - 326327 - 335|336 - 344 | 345 - 353|354 - 362 | 363 - 371
|
No. of labourers 44 28 32 14 38 35 10 18
i) Daily Rage (in 1300-308/309-317 318 - 326327 - 335|336 - 344 | 345 - 353 | 354 - 362 | 363 - 371
1
No. of labourers 44 28 14 32 33 35 10 18
i Daily Re¢ (in 1300.308/309-317|318-326 327 - 335|336 - 344 | 345 - 353|354 - 362|363 - 371
1
No. of labourers 44 28 14 32 38 35 10 18
(i) Daily ;’{"S"‘)ge (in 1300-308/309-317 318 - 326|327 - 335|336 - 344 | 345 - 353|354 - 362|363 - 371
[\
No. of labourers 44 18 14 32 38 35 10 28
“ Daily Rage (in 1300-308/309-317 318 - 326327 - 335|336 - 344 | 345 - 353 | 354 - 362 | 363 - 371
\"
No. of labourers 44 28 10 32 38 35 10 18




20. Heights of 185 students (in cm) are given below. Identify the class mark table for the given histogram.
Y

No, of students
v
(=]

1221123 1 136 | 143 1150 | 157 _164_'__

Height {in cm) s———a—p

Height (in cm) [125.5|132.5|/139.5|146.5|153.5|/160.5
No. of students| 31 27 13 27 50 37

(i)

Height (in cm) |125.5(/132.5/139.5|146.5|153.5|160.5

(1) 'No. of students| 31 | 27 | 13 | 23 | 50 | 37

Height (in cm) |125.5|132.5|139.5|146.5|153.5|160.5

(i) No. of students| 31 37 13 27 50 27

Height (in cm) |125.5|132.5(/139.5|146.5|153.5|160.5
No. of students| 31 13 27 27 50 37

(iv)

Height (in cm) |125.5|132.5|139.5|146.5|153.5|160.5

v) No. of students| 31 27 18 27 50 37




21. Heights of 267 students (in cm) are given below. Identify the class mark table for the given histogram.
¥

No, of students

121.5[130.5{139.5{148.5/157.5{166.5 '1?|5.5 18-|¢.5 19|3.5_

Height (in cm) e———ap

Height (in cm) |126 135|144 (153|162 |171|180|189

W No. of students| 27 | 39 | 26 | 36 | 50 | 19 | 29 | 38

Height (in cm) |126|135|144|153|162|171|180|189
No. of students | 27 | 38 | 29 | 36 | 50 | 19 | 29 | 39

(if)

Height (in cm) | 126 135|144 (153|162 |171|180|189

() No. of students| 27 | 39 | 29 | 36 | 50 | 19 | 29 | 38

Height (in cm) |126|135|144|153|162|171|180|189
No. of students | 27 | 39 | 29 | 36 | 55 | 19 | 29 | 38

(iv)

Height (in cm) |126|135|144|153|162|171|180|189

W) No. of students| 27 | 39 | 36 | 29 | 50 | 19 | 29 | 38




22. Heights of 125 plants (in cm) are given below. Identify the class mark table for the given histogram.
Y

No. of plants
(o
=

70| 79 |88 | 97 | 106|115 | 1247

Height (in cm) s———ap

Height (in cm)|74.5|83.5|/92.5|101.5|110.5|119.5
No. of plants | 33 | 11 | 34 9 9 29

(i)

Height (in cm) | 74.5|83.5(92.5|/101.5|/110.5|119.5
No. of plants | 33 | 34 | 29 9 9 11

(ii)

Height (in cm)|74.5|83.5/92.5|101.5|110.5|119.5
No. of plants | 33 | 29 | 39 9 9 11

(iii)

Height (in cm) | 74.5|83.5(92.5|101.5|110.5|119.5
No. of plants | 33 | 29 | 34 13 9 11

(iv)

Height (in cm) | 74.5/83.5(92.5/101.5|110.5|119.5
No. of plants | 33 | 29 | 34 9 9 11

(v)




23. Heights of 222 plants (in cm) are given below. Identify the class mark table for the given histogram.
Y

Mo, of plants
b
=

6351695755 815|875 9359951055

Height (in cm) s—a—p

Height (in cm) |66.5|72.5|78.5|/84.5|90.5|/96.5|102.5
No. of plants | 41 | 46 | 49 | 31 8 21 22

(i)

Height (in cm) |66.5|72.5|78.5|84.5/90.5|96.5|102.5
No. of plants | 41 | 46 | 54 | 35 8 21 22

(i)

Height (in cm) |66.5|72.5|78.5|/84.5|/90.5|/96.5|102.5
No. of plants | 41 | 49 | 46 | 35 8 21 22

(iii)

Height (in cm) |66.5|72.5|78.5|84.5/90.5|96.5|102.5
No. of plants | 41 | 22 | 49 | 35 8 21 46

(iv)

Height (in cm) |66.5|72.5|78.5/84.5|/90.5(/96.5|102.5
No. of plants | 41 | 46 | 49 | 35 8 21 22

(V)




24. Ages of 148 students (in years) are given below. Identify the class mark table for the given histogram.
Y

No, of students
v
(=]

R T e BT H DR e 36 A 1

Age {inyears) s——ap

Age (in years) [13.5]/18.5|23.5/28.5|33.5|38.5
No. of students| 21 | 31 | 12 | 41 | 29 | 10

(i)

Age (in years) |13.5/18.5(23.5|28.5|33.5|38.5

(i No. of students| 21 | 31 | 12 | 45 | 29 | 10

Age (in years) |13.5|18.5|23.5(/28.5|/33.5|38.5

(i) No. of students| 21 | 10 | 12 | 45 | 29 | 31

Age (in years) |13.5/18.5/23.5|28.5|33.5|38.5
No. of students| 21 | 12 | 31 | 45 | 29 | 10

(iv)

Age (in years) |[13.5|/18.5|23.5/28.5/33.5|38.5

v) No. of students| 21 | 31 9 45 | 29 | 10




25. Ages of 156 students (in years) are given below. Identify the class mark table for the given histogram.
Y

No, of students

195305415525 635745

Age (in years) s——s—»

(i Age (in years) |25(36|47|58|69 (i) Age (in years) [25(36(47|58|69
i i
No. of students |12 |48 (47|18 |31 No. of students |12 (31(48|18 |47

(i) Age (in years) |25|36|47|58|69 (iv) Age (in years) |25|36|47|58|69
iii iv
No. of students |12 (4743|1831 No. of students | 12|47 |48|18|31

Age (in years) |25|36|47|58|69
No. of students |12 |52 /48|18 |31

(v)




26. Scores of 182 students are given below. Identify the class mark table for the given histogram.
Y

No, of students
o
L]

231 [ 401 49 58 | 67 1 76 | B85 | 94"

Score —_—

Score 35.5(44.5|/53.5|62.5|71.5|80.5(89.5

(0 No. of students| 32 30 | 25 13 | 39 | 30 9

Score 35.5/44.5(53.5/62.5(71.5/80.5|89.5
No. of students | 32 30 | 20 17 | 39 | 30 9

(if)

Score 35.5(44.5|53.5|62.5/71.5|80.5(89.5

() No. of students| 32 | 30 | 25 | 17 | 39 | 30 | 9

Score 35.5/44.5(53.5/62.5(71.5/80.5|89.5
No. of students| 32 25 30 | 17 | 39 | 30 9

(iv)

Score 35.5|/44.5/53.5|62.5|71.5|80.5|89.5

™) "'No. of students| 32 | 9 | 25 | 17 | 39 | 30 | 30




27. Scores of 152 students are given below. Identify the class mark table for the given histogram.

Y
-100
|
|
----- a0
|
|
----- 80
|
i
----- 70
|
£ 160
@ |
=4 |
2 L--50
5
g0
..... 5
|
|
----- 20
|
|
----- 10 _
RE . _ -'x-';
42515151605 695|785 (875
[ L e
SCOreg sy
(i Score 47 |56|65(74 |83 (i) Score 47|56 |65|74|83
i ii
No. of students |47 |30(37|32| 9 No. of students |47 | 9 [34|32 |30
(il Score 47|56 |65|74|83 (iv) Score 47|56 65|74 |83
iii iv
No. of students |47 (30(34 /32| 9 No. of students |47 |34 (30|32| 9

Score 47 |56 (65|74 (83
No. of students |47 |25(34|32| 9

(v)




28. Rainfall of 163 days (in mm) are given below. Identify the class mark table for the given histogram.

Y
-100
|
|
----- 90
|
|
----- 80
|
£
————— 10
|
|
w 60
> [
| [
o [ 50
< B
2 |
40
|
|
----- 30
|
|
----- 20
|
|
----- 10
x|
1020 130140150 1607080
s e
Rainfall (in mm) s————
(i Rainfall (in mm) | 15|25 |35|45|55|65|75 (i) Rainfall (in mm)|15|25|35|45|55|65
i ii
No. of days 33(45|11| 7 |32|17|18 No. of days 33|11(45| 7 |32|17
(i) Rainfall (in mm) [15|25|35|45|55|65|75 (V) Rainfall (in mm) |15 |25|35|45|55|65
iii iv
No. of days 33(45|6 |7 |32|17|18 No. of days 33|45(11| 3 |32|17
W) Rainfall (in mm) |15|25|35|45|55|65|75
Y
No. of days 33(18|11| 7 |32|17|45




29. Rainfall of 199 days (in mm) are given below. Identify the class mark table for the given histogram.
Y

No. of days

"451125205 1285365 44.5]525/]60.5

Rainfall (in mm) s————

Rainfall (in mm) |8.5(/16.5(24.5|32.5/40.5/48.5|56.5
No. of days 6 | 24 | 30 | 50 | 42 | 22 | 23

(i)

Rainfall (in mm)|8.5/16.5(24.5|(32.5/40.5/48.5|56.5
No. of days 6 | 24 | 32 | 50 | 42 | 22 | 23

(if)

Rainfall (in mm) |8.5(16.5|24.5|/32.5/40.5(48.5|56.5
No. of days 6 | 32 | 24 | 50 | 42 | 22 | 23

(iii)

Rainfall (in mm)|[8.5/16.5(24.5(32.5/40.5/48.5|56.5
No. of days 6 | 23 | 32 | 50 | 42 | 22 | 24

(iv)

Rainfall (in mm) |8.5(/16.5(24.5|32.5/40.5/48.5|56.5
No. of days 6|24 | 32 | 54 | 42 | 22 | 23

(v)




30. Temperatures of 168 days (in °C) are given below. Identify the class mark table for the given histogram.

No. of days

HDSHE I3 A ] H A O S RS T 3

Temperature (in degree) s———n

Temperature (in degree) |29 |37 (45|53 |61 |69
No. of days 33| 5 (32(24(48|31

(i)

Temperature (in degree) |29|37 45|53 |61 |69
No. of days 33| 5 (32(19(48 |31

(ii)

Temperature (in degree) (29|37 (45|53 (61|69
No. of days 33(32| 5/19|48|31

(iii)

Temperature (in degree) |29|37 45|53 |61 |69
No. of days 33(31/32(19(48| 5

(iv)

Temperature (in degree) | 29|37 (45|53 |61 |69
No. of days 33| 5 (37(19(48|31

(v)




31. Temperatures of 135 days (in °C) are given below. Identify the class mark table for the given histogram.

Y
-100
|
|
----- 90
|
|
----- 80
|
|
----- 70
|
|
w 60
> [
s [
w [=50
i |
S |
z ___.40
|
|
----- 30
|
|
----- 20
|
|
----- 10
2451315 | 385 (455525 595 1
SHE
Temperature (in degree) s—
(i Temperature (in degree) | 2835|4249 |56 (i) Temperature (in degree) |28 35|42 |49
i i
No. of days 10/26(35|45|19 No. of days 10/19(26 |45
(i) Temperature (in degree) |28 35|42 (49|56 (iv) Temperature (in degree) |28 35|42 |49
iii iv
No. of days 10(30(26|45|19 No. of days 10 /35|26 |45

Temperature (in degree) |28 (35|42 (49|56
No. of days 10/35(29 (45|19

(v)




32. Weights of 118 students (in kg) are given below. Identify the class mark table for the given histogram.
Y

No, of students
v
(=]

56| 63 [ 70 | 77| 84 | 91 | 98

Weight (in kg) s——a—p

Weight (in kg) |59.5|66.5|73.5(80.5 87.5(94.5

) "No. of students| 23 | 15 | o | 28 | 15 | 26

Weight (in kg) |59.5|66.5|73.5/80.5(87.5|94.5

(i No. of students| 23 | 26 | 11 | 28 | 15 | 15

Weight (in kg) |59.5|66.5(73.5|80.5/87.5(/94.5
No. of students| 23 | 11 | 15 | 28 | 15 | 26

(iii)

Weight (in kg) |59.5|66.5|73.5/80.5|87.5|94.5

(iv) No. of students| 23 | 15 | 11 | 31 | 15 | 26

Weight (in kg) [59.5(66.5|73.5|/80.5(87.5|94.5

v) No. of students| 23 | 15 | 11 | 28 | 15 | 26




33. Weights of 164 students (in kg) are given below. Identify the class mark table for the given histogram.
Y

No, of students
v
(=]

HEE e
515595 1675|755 1835915995 |

Weight (in kg) s——a—p

Weight (in kg) |55.5/63.5|/71.5|79.5(87.5|/95.5
No. of students| 31 | 17 | 31 | 17 | 44 | 24

(i)

Weight (in kg) [55.5|63.5|71.5/79.5|87.5|95.5

ii
(i No. of students| 31 | 17 | 27 | 17 | 44 | 24

Weight (in kg) [55.5(63.5|71.5|79.5|87.5|95.5

iii
(i) No. of students| 31 | 24 | 31 | 17 | 44 | 17

Weight (in kg) [55.5/63.5|71.5|/79.5|87.5|95.5
No. of students| 31 | 31 | 17 | 17 | 44 | 24

(iv)

Weight (in kg) [55.5(63.5|71.5|/79.5|87.5|95.5

v
v) No. of students| 31 | 17 | 31 | 12 | 44 | 24




34. Daily wages of 133 labourers (in X) are given below. Identify the class mark table for the given histogram.
Y

No. of labourers
n
(=]

¥
289 | 298 | 307 | 316 | 325 | 334 | 343

Daily wage (in R5)  s——an

Daily wage (in Rs) |293.5|302.5/311.5|320.5|329.5|338.5
No. of labourers 29 30 6 7 23 35

(i)

Daily wage (in Rs) |293.5|302.5(311.5|320.5|329.5|338.5
No. of labourers 29 35 6 10 23 30

(ii)

Daily wage (in Rs) |293.5|302.5|311.5|320.5(329.5/338.5
No. of labourers 29 6 30 10 23 35

(iii)

Daily wage (in Rs) | 293.5|302.5|311.5|320.5|329.5|338.5
No. of labourers 29 30 6 10 23 35

(iv)

Daily wage (in Rs) |293.5(302.5/311.5|320.5|329.5|338.5
No. of labourers 29 30 3 10 23 35

(v)




35. Daily wages of 166 labourers (in X) are given below. Identify the class mark table for the given histogram.
Y

No. of labourers
n
(=]

: i
280.5[289.5[298.5/307.5/316.5|325.5|334 .5

Daily wage (in R5)  s——an

Daily wage (in Rs) | 285|294 (303|312 |321|330
No. of labourers 6 |47 | 15| 35|43 | 20

(i)

Daily wage (in Rs) | 285|294 303|312 |321 (330
No. of labourers 6 |20 | 17 | 35| 43 | 47

(ii)

Daily wage (in Rs) | 285|294 (303|312 |321|330
No. of labourers 6 | 20 | 15 | 31 | 43 | 47

(iii)

Daily wage (in Rs) | 285|294 303 312|321 (330
No. of labourers 6 | 15|20 | 35| 43 | 47

(iv)

Daily wage (in Rs) | 285|294 (303|312 |321|330
No. of labourers 6 | 20 | 15| 35 | 43 | 47

(v)




36. ldentify the class interval table for the given histogram.
Y e e e

Frequency

| T1585]64.5[705 |76.5] 825 | 885 [94.5 | |
RS E R R

Class-Interval  s———ap

(i Class-Interval |59 -64|65-70|71-76|77-82|83-88|89-94
i
Frequency 82 113 75 103 17 124
(i) Class-Interval |59-64|65-70|71-76|77-82|83-88(89-94
i
Frequency 82 113 70 108 17 124
(i) Class-Interval |59 -64|65-70|71-76|77-82|83-88|89-94
iii
Frequency 82 124 75 108 17 113
(iv) Class-Interval |59 - 64 |65-70|71-76|77-82|83-88|89-94
iv
Frequency 82 113 75 108 17 124
W) Class-Interval |59 - 64 |65-70|71-76|77-82|83-88|89-94
v
Frequency 82 75 113 108 17 124




In a study of heart patients, the following observations are obtained. Identify the class interval table for the given
" histogram.
ki

No, of Patients
o
=]

3854451505565 625 | 685]

Age (in years) s———»

Age (in years) [39-44|45-50|51-56|57-62|63-68
No. of Patients| 44 21 35 44 24

(i)

Age (in years) |[39-44|45-50|51-56|57-62|63-68
No. of Patients 44 35 21 44 24

(ii)

Age (in years) [39-44|45-50|51-56|57-62|63-68
No. of Patients 44 40 21 44 24

(iii)

Age (in years) |39-44|45-50|51-56(57-62(63-68
No. of Patients| 44 24 21 44 35

(iv)

Age (in years) [39-44(45-50|51-56|57-62(63-68
No. of Patients| 44 35 16 44 24

(v)




38. ldentify the class interval table for the given histogram.

Y !

----- 50

| -

o |

| :
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--_-'4[!

| :

l ..

_____ 35 :

| :

n [ H
= 30 ;
7] | !
= n
3 I ;
et 25 !
5 [ :
2 20 f
| E

----- 15 !

! :

| ..

————— 10 :
_______ 5 :
19512251255 285|315 1345|375 {405 /|

Weight (in kg) s——a—p

Weight (in kg) |20-22|23-25(26-28(29-31(32-34|35-37|38-40
No. of students 22 18 21 26 24 11 16

Weight (in kg) (20-22|23-25|26-28|29-31|32-34|35-37(38-40
No. of students 22 21 16 26 24 11 18

(if)

Weight (in kg) [20-22|23-25|26-28|29-31(32-34|35-37(38-40

() No. of students| 22 16 17 26 24 11 18

Weight (in kg) |20-22(23-25|26-28|29-31|32-34|35-37|38-40

(iv)

No. of students 22 16 21 29 24 11 18

Weight (in kg) [20-22|23-25|26-28|29-31(32-34|35-37(38-40

(V)

No. of students 22 16 21 26 24 11 18
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